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Setd : 47071_72 11Au918_Batch2_!
Section 1 - Paperl-General English

1) Choose the correct answer:

The accident was | TeChOfworld-In

A) mortal
B) immortal
C) flawed
D) fatal

2) Choose the correct answer:
The bleated pitifully.

A) lamps
B) lambs
C) limbs
D) laps

3) Choose the right option to fill the blank:
Before my accident, | swim two laps everyday.

A) use to
B) used to
C) might
D) may

4) Choose the correct answer:
| tried to my mistake but it was too late.

A) improve
B) altar
C) rectify
D) alter

5) Choose the correct answer:
The teacher the student for her
dance.

A) complied
B) completed
C) complemented
D) complimented
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Section 2 - Paperl-Education and General Awareness

6) Who was the chairman of the Secondary Education
Commission which was established in 19527

A) D. S. Kothari

)
B) S. Radhakrishnan
C) P. N. Kirpal
D) A. Lakshmanswami Mudaliar

8) € ¢'896Q 9106 QAR JAI 2GR 21D & gem ?

A) @49, 611011
B) 4. QuIgI8q
) 9.4Q. FaImR

) 9

. YN QRN

Cc
D

7) The objective of this award is to provide an opportunity
to carry out the advanced studies and research in
Humanities and Social Sciences including languages in
Indian Universities/Colleges/ Institutions. Identify this
award.

A) Mahatma Gandhi Postdoctoral Fellowship In
Humanities And Social Sciences(Including languages)

B) Dr. Baba Saheb Ambedkar Postdoctoral Fellowship In
Humanities And Social Sciences(Including languages)

C) Atal Bihari Postdoctoral Fellowship In Humanities And
Social Sciences(Including languages)

D) Dr. S. Radharkrishnan Postdoctoral Fellowship In
Humanities And Social Sciences(Including languages)

7) % 99209 Q694 6268 Q1001 SUGUIR/qena/daIgIIe
AIRGER AIFI A6AS ARG IR TTA ATEQ GOF 2ULR 8 64

I 6QIS 991 Q89! | T ga”Iad K4l 263 ?

A) 219 JIF 601RPERIAIN ETEMITY BF YT 98 6AIL2IN
AIRG6AY (RS A6AS)

B) @. QIQI AIKLQ 2699 6IVLEQAUR, 6TERITY 9]
QUAIRER 14 6QITLIR ARFEAQ (QIFI A6AF)

C) 2oq Q2o 6QI8es/aIm 6T76mId 8 FUAITTR 18
6QIT2IN ARR6AY (@B AEAS)

D) @.499. QRIIFE 6U1eeswRln 6Trendd O] QUFIRGTS g
6AIIR ANREAY (RIS A6A1D)

8) Which of the following bodies came into existence due to
provisions of India's National Policy on Education (NPE) for
regulation and development of higher technical education

A) Indian Council for Secondary Education
B) National Council for Teacher Education
C) All India Council for Technical Education
D) Central Board for Secondary Education

8) 0P 638Ee dRIa F0Rd 8 A1 iR WS RIS
JIRB(1RINQ MeRl ARIR FIRYS 60% 2°AIA A& 62IRR
?

A) R1ILAIRITGINNCGTL

B) fIP10d8aEQ1908e

C) 9eRINgIN6RedeaRInase
D) exgIanrbedsntae

9) Who among the following is NOT elected in accordance
with the system of proportional representation by means of
the single transferable vote in India?

A) Members of Vidhan Parishad
B) Vice President

C) President

D) Chief Minister

9) QIAGER YaR 2LBAIA AT WIES AAIGAGS 9EFQ IR
2QQIR GIAYE g &4 AR g2R AIF ?

A) Qe 9QEQ QY
B) QQquead

C) Qg9

D) qeue1a1
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10) Who among the following philosophers defined political
science as 'that part of social science which treats the
foundations of state and the principles of the government'?

A) Paul Janet

B) R.N. Gilchrist

C) Robert Nozick
D) Jeremy Bentham

10) FORge QHIGRAIRE AUg @9 QIRNIE FRIGY "AS IRIGA
2rd QIgl R Fegel 99° ANRIRT 109 FeR” 6elR g
QRegem ?

A) Of F1689

B) ie.q. g
C) Q@9 6916]

D) 6@66F 6Q8F]

11) A spring is generally made of steel and not of copper.
Which of the following is the CORRECT reason for this?

A) The elasticity of steel is greater than that of copper
B) Steel is much cheaper when compared to copper
C) The elasticity of steel is less than that of copper

D) Steel is lighter in weight when compared to copper

11) 99 e ARIGESS QSR SR 62N 99° 8Flg FaIR

62102 | IFIR RIRE A°ARER FIRNYS 69Q 926 OR 2leg' ?

A) P9Q FEF1AG! GF0IQ 698
B) 0¢l gRRKa EIe 950 92

C) 2919 AARIAG! 89I0IQ 96
D) @9l 0160 ALIGA 369 LIRS

12) Which of the following chemicals is used as a food
preservative?

A) Sodium hydroxide
B) Alitame
C) Sodium benzoate
D) Stearate

12) HIQY EVE Vel FIRYS 606 QIAKER AQlE YLLE §4 ?

A) 6460 LIRELITING
B) ameie

C) 64 \@ﬂﬂ ERAEFING
D) &sa

13) Which of the following is true for Education as a process?

A) Education is only a social process

B) Education is neither natural or a social process
C) Education is only a natural process

D) Education is both a natural and social process

13) FRGe 60aF JIIR 988 QI6e QeYRI6E ?

) A9 669 99 AAIFS gFal
B) 4RI gI9o@ g6w @AIGa 959l 968
) Q1 6999 Y9 U195 959

) 91 @ed I9Ee 6 ANIED 9g

14) In which of the following places did Rabindranath Tagore
conduct his experiments?

) Sabarmati
) Nalanda
) Somnath
)

A
B
C
D) Shantiniketan

14) FORYS 6RIN6A QQ1G 12 TIEISIT TRI0Q Y6LUIT @GgER
?

A) QRIS
B) QIpal

C) sQiqIgiel
D) §I8G6eaes
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Section 3 - Paperl-Reasoning

15) Smita walks 2 km towards east to reach a general store.
She then takes a left turn and walks for 1 km to reach the

Pharmacy. In which direction is she from the initial position
7

A) South
B) North East
C) South West
D) North

15) §01 6960AIN 68IR6Q 92891 QIR 99 @969 2 km GIR6R | 6Q
S 96 Qg R 1 km SRS A6x TIFIAT 01K AL86m | g QIR
0l 64 62% @HI6Q FI6M ?

A) GB&

B) @@q g<
C) @84 Qde
D) @&aa

16) Gautam is the brother of Seema's mother's son. How is
Seema's husband related to Gautam's daughter?

A) Uncle

B) Grandfather
C) Aunt

D) Father

16) 6610 62083 QAT AT J2Ia IR | 6668 AT A
6dIone S2Q A°UR6R P6 626Q ?

A) @620
B) 2l
C) g@1
D) @lQl

17) If EAR is coded as 27, WALK is coded as 64, then
LONELY will be coded as

A) 316
B) 336
C) 216
D) 256

17) 93 EAR @ 27 @169, WALK @ 64 GQI6Q 6Q18 92 Q@QIQIRE,
6062, LONELY @ @0@ 621¢ 98 euda

A) 316
B) 336
C) 216
D) 256

18) What is the missing number in the given series?
2187, 7, 243,81, 27

A) 729
B) 841
C) 1881
D) 1026

18) 9G8 G716 @ &I QSIS @4 86T ?
2187,7, 243,81, 27

A) 729
B) 841
C) 1881
D) 1026

19) What is the next number in the given series?
217, 344,513, 730, ?

19) 998 GF6Q gal THIYFRE AORRT T°HNIT @8 629 ?
217,344,513, 730, ?

A) 1331
B) 1001
G) 1221
D) 1728
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20) What is the next number in the given series?
199, 210, 223, 238, ?

A)
B)
c) 25 Tech

20) 998 99160 4QI IR VR LT /4 629 ?
199, 210, 223, 238, ?

A) 248
B) 255
C) 259
D) 251
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Section 4 - Paperl-Teaching Aptitude

Techofworld.In

21) Behaviourism was the concept given by

A) Skinner
B) Thorndike
C) Freud

D) Pavlov

21) QIRRINRIR ANIINANG @4 geIe QQgem ?

A) @aQ
B) adeiaR
C) 679%
D) QIRERR

22) Reservation palicy is

A) constitutional
B) antisocial

C) unconstitutional
D) Unauthorized

22) 498 @16 6298

A) ARG
B) aQifliae
C) 24rauica
D) aaqe

23) The best way to teach young children is through the paly
way method. This method was devised by whom

A) Aristotle
B) Freud
C) Froebel
D) Plato

23) Qg dRKIEg dYIRQIQ QUYe AIkIF 6208 QIsYIReR | N8
QGG A QIeIa aGeem ?

A) 2IREIIGR
B) 604
C) 6glean
D) ges!

24) "Education must be a great equaliser in our society. It
must be the tool to level the differences that our various
social systems have created over the past thousands of
years.”said

A) Mohandas Karamchand Gandhi
B) Sonia Gandhi
C) Indira Gandhi
D) Rajiv Gandhi

24) “GQl 2IF AFIF6E IR AR AWINCIRING 629 AT | AG1G
200 2910 @d 24 KL FER ANES el 8 A0 Akialg
AR REQ IR 9L IR FIIE 6291 QARIQ |" IRell &9 Afelem ?

A) 69120914 KREIRIL SIS
B) 6Q&2 QIS

C) QoI qIa

D) QP18 QIS

25) A child who is prone towards negative activities like
fighting, stealing etc may be called

A) gifted

B) delinquent
C) bright

D) over achiever

25) Iede @GQl, 6916 A9Q1 RSYIF AR FTISRIAGER 999
e dRig @4 9RIdIRER ?

A) 6T

B) aigaut

C) ag@

D) GI0IQ 2R LIARRIRT



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App

WtsApp/Call- 8596976190

26) Teacher can maintain discipline in a classroom

A) by delivering motivational stories

B) by using different teaching strategies
C) by delivering lectures

D) by using impressive dressing sense

26) 3@ 6g41a860 AR 413 Gl adl *AAIRE ?

A) 6g991I9% Q21N 9F

B) S0 d9IQIe 9910 492Ia K6
C) QYR goIe @8

D) gRiediR1 61819 IQLIR 96

27) Which of the following is NOT a specific learning
difficulty?

A) Dysphagia
B) Dyslexia

C) Dyscalculia
D) Dyspraxia

27) GORYS PIQ 69916 Y@ 541 A6 QY 962 ?

A) §2Ql6a @0GS!
B) fIede SqIa
C) Q8g&

D) q§al

28) Which school of philosophy believes that only
materialistic world is true and there is no true spirit.

A) Neo Realism
B) Pragmatism
C) Realism
D) Idealism

28) 609R 92T QR A6 Ye° 6@1ET A0 QISR AIZ 6Q1R 69Q
Q4049 G419 @69 ?

A) 994 QERQIQ
B) QagQIQ
C) QIge9Ie
D) 2Iegel

29) The National Council of Teacher Education (NCTE)lays
down which of the following norms?

1.norms and standards for various teacher education
courses

2.minimum qualifications for teacher educators
3.course and content and duration

4.grants recognition to institutions

So5®
R % Q. N
o N
pls Tl
o)
I

AW

29) QIe1a 999 §81 98a@ (NCTE) GRS kI 694 QIR
998 @0E?
1. 39eaIeee d81 CIR el JI049F dIN ARILRT G I8

2. 88a01eg d91Q18 @2l FARFIes IR A9RT] 6QISNS!
3.Q104g0 8 FFARY B AR

4. ARG 196 geIe

A) 1,2,38&4
B) 2&3

C) 1,2, &3
D) 1,2,&4

30) Taking a test after completing a chapter is a way of

A) testing

B) measurement
C) introduction
D) evaluation

30) 6615 g8 AAQ! T66 9918 @A ARG K8 QRIKN ?

A) Q184
B) q1Q

C) adea
D) gmuiee
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Section 5 - Paperll-Odia Language

LY ot ’
31) QUR AVQ @ I AV a7

32) aRIF QAR YaQ 49

A) QA @4l
B) a4 @al
o) ang Ial

D) 2QA1aQ| 8l

33) AN QURAAER 6REOCAIS ‘@AAC” A ?

35) cARUNIER 29 AQ - 2AQ @ AR IaI?

Qaigel

) Q9010
QanIial
QeFQ
AQ0Q
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- 6QUT YRUIFS R ?

n TOER
QAR
QRRQAR

B)

D) wQTR

37) S9U 6195 ‘QAIR’ A IQRICIRIQ R

A) QYR
g) 9988,
c) OPQ8

p) <

38) ‘209 AR 990 fA9’- 98 Q8Ga 22 @’a?

A) Qe cRIea o2
B) @2cas 89|
&) Y 9 Q2

p) 289 9ECA Q8

" ‘VB6Q QE1 699 ASTQ 22 @’a?

o1 QIR Q!
B) QAQYIER TG
o) A8AIQ 6AIQQ!
D) SR ARSI

A)

40) #1Q602° 8056Q QU ‘P QAQAC €U AR QUIRO ?

a) 088
g) QR
c) a04aa
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A)
o Tec
D)

42) ‘9IF1 @ 23 9Q AR’ 1 60¢ITE BT JeaaY F€a Q4
A) 9L9I0Q
B) Qdl Qe

c) U@ Qe
D) 9 ER

B :
43) 998 SQ1 ‘WA’ 406 €W a9 ?

A) QRRKIe J6a8a
g) A°QRIeR Q6aua
c) 90 QI Q6aaa
p) QARFe Jcaaa

44) ‘2098’ 6 ‘ca¥’ A0Q 096Q ULIA QA

) QaAIg-atanIg
B) 90-Q8
)

)

>

ANQ-Q8S
2194-QAI1g

O

D

45) ‘@29’ 69a §aq1e a0 6ad|

A)aGQQ
B) Q@@
C)QQQ
D) dQaw
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Section 6 - Paperll-Mathematics

486) The HCF of 210 and 55 is

o wm

A) 1
B) 1
C) 5
D) 55

48) 210 9Q° 55 @ 6.41.g @6

A) 15
B) 10
C) 5
D) 55

47) Under what condition 32 + px + q is a perfect squre?

A) p=2vq
B) p=2q
C) p=4q
D) p=q

47) 609 2QQI60 X2 + px + q U@ A0Q @6 266 ?

e £
e

o NN
L.CI

48) A point P is 26 cm away from the centre O of a circle and
the length of the tangent drawn from P to its point of contact
with the circle is 10 cm. The radius of the circle is

A) 27 cm
B) 25¢cm
C) 20cm
D) 24 cm

48) @ 989 O 6ag 019 P @9 26 cm 996Q 2996 9e° P 01
Qa9 Qg 96 ARG QI6HIQ 634y 6298 10 cm. 696@ AR
QAR 6260

A) 27 cm
B) 25cm
C) 20cm
D) 24 cm

49) The highest number that divides 245 and 1029 leaving
remainder 5 in each case is

A) 18
B) 16
C) 15
D) 12

49) Q2@ QS K19l 245 6 1029q FQIRG Q6Q 8 J66ie 6966a
WGEHA 5 QD

A) 18
B) 16
C) 15
D) 12

50) How many tangents a circle can have which are parallel
to each other?

A) three
B) two
C) infinity
D) one

50) 66154 98R 6R6EE @E6RHI IR 9F AFIBAIR VIES AEE ?

A) G&F
B) Q&%
C) adqimn
D) &QlEgd
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51) Which of the following is a root of 3x-5 = 13?

A) 6
B) 8/3
C) 6
D) -8/3

51) FORYS FIQ 6996 3x-5 = 13 Q gR ?

A) 6
B) 8/3
C) -6

D) -8/3

52) fA={xe C: x*x=1}and B = {xe C: x*x*x*x= 1}, then A-
Bis

A) empty set
B) {-1}

C) {1}

D) {1-1}

52) QG A =[x € € x** = 1} 9&° B = {x € C: x*x*x*x = 1}, 666Q
A-B 6268

A) g9 694

B) {-1}
C) {1}
D) {1-1}

53) The number of possible subsets of the power set of a set
containing 2 elements is

A) 2
B) 16

C) 8

D) 4

53)2 § eaee &Q @ 649 A WIe 649 o DAY Q6L o d°GlYl
6066 ?

A) 2
B) 16
C) 8
D) 4

54) If a:b = 5:3, then the value of (5a+8b) : (Ba-7b) is

A) 49:9
B) 12:19
C) 9:49
D) 49:12

54) 9@ ab = 5:3, 6669 (5a+8b) : (6a-7b) @ A 6@6E ?

A) 49:9
B) 12:19
C) 9:49
D) 49:12

55) Compound ratio of 16:5 and the triplicate ratio of 5:4 is

A) 5:8
B) 25:4
G} 5
D) 25:6

55) 16:50 Q6IGe 2o ¥a° 5:4 @ 8948 2g9Ie 68697

A) 58
B) 25:4
& TR |
D) 256

56) In the parallelogram ABCD if angle ABC = 70 degree,
then what are the angle C and angle D?

A) 80° and 100°
B) 110° and 70°
C) 65°and 115°
D) 90° and 100°

56) ABCD QK198 6996a €& 62161 ABC = 70 891, 656 614
C «e° D 6@6% @917

A) 80°4e° 100°
B) 110° 4e° 70°
C) 65°4&° 115°
D) 90° 4&° 100°
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57) 3v40 =

A) 6Y10
B) 6v5
C) 3v20
D) 35

57) 3V40 =

A) 6v10
B) 6v5
C) 3v20
D) 3V5

58) For which of the following values of 'k', the equation
2x2 + kx - 8 = 0 has real roots?

A) k<4

B) k is an imaginary number.
C) k==8

D) kis any real number.

58) 'k' @ FOMHO 629 Tl TIR, ARG 2x2 + kx - 8 =0 Q QY
@ oRR?

A) k<4
B) k 62618 @ QIgE@ Q°®Yl |
C) k>=8

D) k 620& e gqo Qe |

59) If while selling an article, there is r% profit and the cost
price is C, then the selling price S is

A) rC/100

B) r/(100C)

C) (1-r100)C
D) (1 +1r/100)C

59) 4% GGE GF6Q, r% MIN 9G° K4l (R 628 C, 6069 I MY
S 6960

A) rC/100
B) r/(100C)
C) (1-r/100)C
D) (1 +r/100)C

60) The price of an article is Rs. 65. It was sold at a discount
of 15%, the selling price of the article is

A) Rs. 556
B) Rs. 56

C) Rs.56.6
D) Rs. 55.25

60) €5lIcN GFEa MY 65 oI | 42 15% QLIF6a 8 QaIsiql,
6069 GEATA G Y 696E ?

A) Rs.556
B) Rs.56

C) Rs.56.6
D) Rs.55.25
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Section 7 - Paperll-Social Science

61) According to Vedas, what is the second stage of human
life?

A) Brahmacharya
B) Sanyasa

C) Grihastha

D) Vanaprastha

61) 699 23R QM FIIRA T01A GG 619G 26T ?

A) ggogy
B) aquia
C) 924

D) Qiegd

62) Which of the following events made Gandhiji halt the
Non-Coperation movement?

A) Jallinwalla Bagh Massacre
B) Chauri Chaura Incident
C) Kheda Violence

D) Champaran Incident

62) G6AI9 FRIQ 699 QL4 AINIRIT AALECAIG QIR SRS
dIQl SRl QR ?

A) IR AN UG DRYIRNE
B) 6513 6011 QG

C) &gl @l

D) o¢ed ggal

63) According to the Indian Constitution, who is vested with
the Executive power of the Union?

A) Governor
B) President
C) Prime Minister
D) Chief Minister

63) QIaGIe AT AQUIN fRrRIg AT ATIEA |G 98
62108 ?

A) QURYAIR
B) Quaad
C) Qlia s
D) q&y a1

64) The study of coins is known as:

A) Manuscript
B) Calligraphy
C) Inscription
D) Numismatics

64) 619! AAR6R 2UARG A6 QRIAN -

65) According to the Constitution (Seventy-third
Amendment) Act, 1992, how many seats were reserved for
women (including the number of seats reserved for the SCs
and STs) in Panchayats?

A) 2/3rd of the total number of seats
B) 1/4th of the total number of seats
C) 1/6th of the total number of seats
D) 1/3rd of the total number of seats

65) QRAINA AIR1992, ( 7367 LEARIR) JRIEQ AZR! AT
QARIEE 6RERIT AIAF AATE AR ( TRINEER 2GIFS RIS 9a°
29960 QUNIE IR A°ERS 2IAN] FAIR ) ?

A) 419 219 R FSTRIS
B) 4718 Zaaa 4@ QQ@PQ
C) 979 19 e ga°d
D) 4919 2A19aQ @ GRS
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66) The 73rd and 74th Amendment acts added which of the
following Parts to the Indian Constitution?

A) Part IX-The Municipalities and Part XV- Elections

B) Part IXA-The Panchayats and Part XIVA- Tribunals

C) PartIX-The Panchayats and Part IXA-The
Municipalities

D) Part VIII- The Union Territories and Part VI- The States

66) 736¢1 B 7469 A°CARI RS ARSIA ARG 69Q AUSEQ
64i0l @U@ ?

A) QU9 1X- 6T1QAIER 8 QI8 XV- GRIea

B) @6l IXA- 9°Q121@ G QIel XIVA- QYIR Q94
C) QU9 IX- QI B QUG IXA- 6d10QIe

D) @19 VllI- 6854139 2°07 G @I VI- QIey

67) Which of the following terms is used to describe the
gradual rise in the earth's temperature caused by high levels
carbon-dioxide and other gases in the atmosphere?

A) Global pollution
B) Global warming
C) Global cooling
D) Global uprising

67) QIASRER 2GTIRRIF, B AR GHIAGERR 2@ 3@ 6219 1R
QIAAIGIER I6R AR 9F AFay FANYS 6@6 0M6Q Qdql
QAULIRABS?

A) Q4.99ad
B) &4 @lae

C) 34 91099
D) 89 @°9IQ

68) In 1884, the International Prime Meridian Conference
was held in Washington that agreed to divide the world into:

A) 20 standard time zones, each 15 degree in latitude
B) 20 standard time zones, each 25 degree in latitude
C) 24 standard time zones, each 15 degree in longitude
D) 24 standard time zones, each 25 degree in longitude

68) 188469 2RIV} QIR RFIX 608 AFRGT GF°ERER 2GRS
62IR8RI, 699260 9@ FUIKIRANI 69 Y47 IUR AR F6
RALS

A) 203 91916 A2 681, 2AWE6Q g6cuR 15 G
B) 205 QI9IC AA19 6517, 2AE6Q g6o4a 25 &gl
C) 243 Q91¢ A2 691R, 9IATI6a gesye 15 391
D) 243 R1€I¢ A0S 6817, IANI6R J604e 25 F1

69) Which of the following options measure the distance east
or west of the prime meridian?

A) Latitude

B) Hemisphere
C) Longitude
D) Equator

69) A6a GRS FA AUQ 96T TIRF 6ATER @ < &9l
QS adie 9asIg A & ?

A) 2IgYrs
B) 6qlRI&
C) QIdel
D) §g% 609l

70) What is the name of the layer of the earth lying beneath
the lithosphere and believed to be more fluid than the
lithosphere?

A) Exosphere

B) Hydrosphere
C) Stratosphere
D) Asthenosphere

70) 92915 697 90Q @4 @aIdM dI2I REAIRR o7g Q88 6 SI0IQ
2128 0o ?

A) 9691321Q

B) @IR621826
C) Q6eiadaa
D) 2legenidaa
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71) In plate tectonics, the margins at which the plates move
towards one ancther and collide are called:

A) Transform plate boundaries
) Divergent plate boundaries
) Passive plate boundaries

)

B
Cc
D) Convergent plate boundaries

71) 699 6O6QYER 60 60Q NRUIFER 69Q FEe UL 2eq OF
QOG 9e° MU SIZIE, CITI 69RE

A) QdIeq 69¢ Q1A AAL
B) Qgf81 698 QIFll AR
C) 7%a 69 QI Qg

D) Q1SS 641 QIFN AT

72) From which place did Mahatma Gandhi launch
Satyagraha Movement in India?

A) Muzaffamagar
Champaran
Kheda
Ahmedabad

— et S N

B
C
D

72) QIR 6Q6l QR 1Ll olIR AIPL ACKITS QT @R
?

A
B
C
D

FITAReR
e
69Q!
2REAAR

— e

73) As of June 2018, how many Fundamental Rights are
guaranteed by Indian Constitution to its citizens?

A)
B)
C)
D)

[ e I -
-

73) 9] 2018 QR QIRQ1R QRIS FIHER AIGE QIR 696016 6
2RI GRS VR QYD FEQ ?

74) Solar energy is an example of which of the following
types of resources?

A) Exhaustible resource

)
) Non-renewable resource
) Renewable resource

)

B
C
D) Botanical resource

74) 6410 63 , 75169 GUICIRYRI AR 694 YAIGR AL 26T ?

A) 99481R a2

B) @91Qa€ 296 QQ
C) 91904 ad

D) Q99 9¢91d 94

75) Which of the following is an example of in-situ
conservation?

) Zoo

) Biosphere Reserves
) Captive breeding

)

A
B
C
D) Botanical Gardens

75) Q65118 6846 ARG RTEA RIS 26T ?

A) SGaIsIl

B) @6aiq 49 QARG
C) 219 2RYEQ Jase
D) 289 aye
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Section 8 - Paperll-Science

76) The ideal gas equation is PV= nRT, what does 'n'
represents from the given equation?

A) number of neutrons
B) number of moles
C) number of atoms
D) number of bonds

76) N9 Qd NI ANQAE 62@F PV= nRTI <@ 9@
ANRQEER N’ FTEM V'S QAN ?

A) QIBR/NRIE Al
B) 6elm ol

C) QQeIIg sl

D) Qg Qs

77) The important ingredient of 'ENQ' is

A) sodium hydroxide

B) calcium carbonate

C) sodium chloride

D) sodium hydrogen carbonate

77) "@4QG" Q g QUILIR 6998

A) 6Q152¢| 2RCLITING
B) @Yin G2 Q1691687
C) 61327 6RANR

D) 6QI327 LIR6TI6RR R6SI6AT

78) What is the Sl unit of mass?

A) kilogram
B) kelvin
C)
D)

78) 994 SI 40 Q412

A) @6RIgIE
B) 6aQ%
C) ca6m4
D) fea

79) Convert the following temperature on the celsius scale
to the kelvin scale.
30°C

A) 298 K
B) 200 K
C) 303K
D) 300 K

79) @6C)ID 6ARPUQ 6%M 69 IR QANIG NI 62 6Q ARG
Q|
30°C

A) 298 K
B) 200 K
C) 303K
D) 300 K

80) The Sl unit of force is

A) Ampere
B) Kilogram
C) Newton
D) Coulomb

80) 9Ra 9eG 6208

A) 9fgq
B) @emigiel
C) aaeq
D) gme]
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81) Which of the following has Newton meter as its S| unit?

) Force
) Velocity
) Acceleration
)

A
B
C
D) Work

81) FORge AUQ 6aRY6R Ga8] A9 , SI 99 / GAT MGLe

247

A) 8/

B) 694
C) Qe
D) @Iy

82) Which of the following microbes is used for making

bread?

A) Arthrobacter globiformis

) Acetobacter aceti
) Saccharomyces cerevisiae
)

B
C
D) Acetobacter cerevisiae

82) QF G2Id @89 UIRl 69@ FIREFI. TR FAUANP

A) 268IQI68 6qIRTAY
B) 216266191690 2162T
C) ARIENIRGAL 6AQ@dzIN
D) 2I69691R168R 6AQUETIN

83) In tap root system, the direct elongation of the radicle
leads to the formation of

A) primary roots which grows out of the soil
B) tertiary roots which grows into the soil

C) primary roots which grows into the soil
D) secondary roots which grows into the soil

83) QuIRFR EIFIES, ARIFR QI QL9 IRl Q121 Q& 62IR2

A) QIR e Q121 AIT QII6R 6@

B) ¢o10 2010 g Q12 I Q66a Q6@

C) quig g Q12 QIS o6 a6

D) qisti )@ / 6914 (@ QLI €15 Ho6Q Q6@

84) Pneumatophores are

A) modified stem that helps in storing food

B) modified roots that helps in breathing

C) modified leaf that helps in climbing

D) modified stem that helps in photosynthesis

84) QAIETIETINY Q1 4ARF)R 6208

A) 05I9RC Q19 AITI SN IFC QY6 ALY F6Q
B) 06ieéle 600 QIR €14 63QKA ARILY FE6R

C) ofe@e 9g Qi AIGIIEa AIRITY 96a

D) g8e@e @14 Il 26RIe ACHSE6a LI F6

85) In plasma membrane, phospholipids are arranged as

A) hydrophilic head towards outer side and hydrophobic
tails towards inner side

B) both the hydrophilic head and hydrophobic tail facing
inner side of the cell

C) hydrophobic head towards outer side and hydrophilic
tails towards inner side

D) hydrophilic tail towards outer side and hydrophobic
head towards inner side

85) QIe%! SR16Q , F6 MTQ, 6UUQ ARG 6RIRAN FIT 6L

A) QIRERITAR (FRIWCIS) 8 QATIER 9Q° /LIREFIET AR
(@R Q1Q ) NI QFEQ

B) ae9 2R6gi0ne (SFIACE) 1@ 99° UR6eETISR (9%
Q) NG 621TQ GoR UGG @ @eaE

C) 2R62I6TIag (9F Q1Q ) €8 ILI6Q LIRCIITAR
(ERIBGH) R Go6R

D) 2IR6gITRR (SRIRFS1) N QL6 98° LUREFIBTITR
(@9 @19 ) 78 @08
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86) Which of the following organelles are NOT found in
the plant cell?

A) Vacuole

B) Golgi apparatus
C) Chloroplast

D) Centrioles

86) Q0% 6QI96R FeAR (U 0L ATRIYER & 2N ?

A) Qg1

B) cond aI19ieg
C) sqieaiga

D) 65g@

87) According to Graham's Law, at constant pressure and
temperature, the rate of diffusion of a gas is

A) inversely proportional to the square root of its volume
B) directly proportional to the square root of its density
C) inversely proportional to the square root of its density
D) directly proportional to the square root of its volume

87) gIef & G0 A, §6 919 ¥e° QITFIgIER, e Y
A8

A) N2IQ 9ERI9R 96 R 96 SBAIgAIER

B) w2ia 08aEIa /4 g 95 geya Feaigaiee
C) ageia /¢l @ 96 fenIgaiea

D) w2ia 98166 @4l @ 98 9048 IgaIPe

88) Which of the following statements is TRUE from the
following?

1) Presence of electron withdrawal group (-NQOz2) at ortho

WtsApp/Call- 8596976190

88) F671I8 @B FIGE AR 6RAE QSN ?

1) "a6dl " 6 "9IQl" ASEE 60 FERAM gRUIRIQ AGR(-NO,) |
QUEG , FEMINMERERY @ JOTAEROIG 9F @6Q

2) "6AG1" 2QEE 6Q RENGR JAMILIR AF2(-NO,) @ QUEE |
2I6ANEREAY @ EFAEIRRIR 98 Q6

A) 6290 dagl

B) seeq Gag 2

C) 1 4e° 2 67161F Sa8 g<
D) oo 381 98° 2

89) Most Probable Number (MPN) test of water indicates
the

A) presence of mercury in water

B) presence of magnesium, phosphorus and nitrogen in
water

C) presence of coliform bacteria in water
D) presence of uranium in water

89) 99 6711G 6gI6IAR AA (YATNR) IRV B8 I

A) dIE6Q AIRea QUEE

B) aifiea quieadar, acad 99° 9efesiea a8
C) aidea 6aIRad f191ge R0EE

D) aifisa gaufan @ adds

90) Who among the following discovered the antibiotic
Penicillin?

A) Edward Jenner
B) Louis Pasteur

C) Alexander Fleming
D) Robert Koch

and para positions increases the reactivity of haloarenes

2) Presence of electron withdrawal group (-NO-2) at meta
positions increases the reactivity of haloarenes 90) SRsie g G 6093AR 2ITLIEATR IR FHLER ?

A) Option 1 only

A) 9P4IR 699
B) Option 2 only

B) aa aae
C) Neither option 1 and 2 . _
D) Both option 1 and 2 2IENRRISO 6E]
D) a6 @]
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Question Paper No: 47071 72

Answer Key

. D 31.C 61.C
2. B 32.D 62.B
3. B 33.A 63.B
4. C 34.A 64.D T
5. D 35.A 65.D e
6. D 36.A 66.C
7. D 37.D 67.B
8. C 38.A 68.C
9. D 39.A 69.C
10. A 40.C 70. D
1I.A 41.D 71.D
12.C 42.C 72.B
13.D 43. A 73.C
14.D 44.B 74.C
15.B 45.C 75.B
16. A 46.C 76. B
17.C 47. A 77.D
1S. A 48.D 78. A
19.B 49.B 79.C
20.B 50. B 80.C
21.A 51.A 81.D
22.A 52.A 82.C
23.C 53.B 83.C
24.D 54. A 84.B
25.B 55.B 85. A
26.B 56. B 86. D
27.A 57.A 87.C
28.D 58.D 88. A
29.A 59.D 89.C
30.D 60.D 90.C
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